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GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
VIDYANAGRI, KALINA, SANTACRUZ (EAST) MUMBAI
Exam Questions Paper
. J
Subject Name : MSCSDEM Paper Set: 1
Exam Name : MSCSDEM ENTRANCE EXAM 24 JUNE 2023 Exam Date 24/06/2023
Duration 01:20Hour
Max Marks : 50.00
Q1. IfKEYS=MDAR, then LOCK="? 2.00 Marks(Easy)
A) NNEJ B) JENN C) NEJJ
D) JENIJ
Q 2. Pointing towards a girl, a man said to a woman, “Her mother is the only daughter of =~ 2.00 Marks(Easy)
your mother.” How is the girl related to that woman?
A) Aunt B) Daughter C) Sister
D) Wife
Q 3. Which of the following is the major cause leading to highest number of deaths of 2.00 Marks(Easy)
children in neonatal period?
A) Prematurity & low birth weigl® Congenital anomalies C) Pneumonia
D) Diarrhoeal disease
Q4. 15,33,69,141, ,573,1149 2.00 Marks(Easy)
A) 151 B) 285 C) 169
D) 456
Q 5. An astronaut in outer space will observe sky as 2.00 Marks(Easy)
A) White B) Black C) Blue
D) Red
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Q 6. Feel blue means ------ ? 2.00 Marks(Easy)

A) Feel Sad B) Feel angry C) Feel energetic
D) Feel happy

Q 7. Find the odd number in the series: 6, 12, 20, 30, 42, 54, 72, 90, 110 2.00 Marks(Easy)
A) 20 B) 90 C) 42
D) 54

Q 8. Full form of CNG 2.00 Marks(Easy)
A) Common Natural Gas B) Common National Gas C) Compressed Natural Gas

D) Certified Natural Gas

Q9. Give the passive voice of this sentence: Ramesh gave the beggar an old shirt. 2.00 Marks(Easy)

A) An old shirt was given to Ran®shThe beggar was gave an old skirt An old shirt was gave to the begg

by the beggar. by Ramesh. by Ramesh.
D) An old shirt was given to the
beggar by Ramesh.
Q 10 HIV isa 2.00 Marks(Easy)
A) Lentivirus B) Capripoxvirus C) Gallivirus

D) Papillomavirus

Q 11 Humans are unable to digest 2.00 Marks(Easy)

A) Starch B) complex carbohydrates C) cellulose

D) denatured proteins

Q 12 Let this be an example __ the troublemakers. 2.00 Marks(Easy)
A) for B) against C) to
D) about
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Q13

Ozone layer presents in our atmosphere absorb
A) Visible rays B) Cosmic rays

D) Ultraviolet rays

2.00 Marks(Easy)

C) Infra-red rays

Q 14 T-cells are produced from 2.00 Marks(Easy)
A) Bone marrow B) Bursa of Fabricius C) Thymus
D) Spleen

Q 15 Telecom company Nokia belongs to which country? 2.00 Marks(Easy)
A)  Finland B) USA C) Sweden
D) Denmark

Q 16 The calendar for the year 2001 is same for which of the following year? 2.00 Marks(Easy)
A) 2007 B) 2005 C) 2006
D) 2011

Q 17 The hottest planet in the solar system is 2.00 Marks(Easy)
A) Mercury B) Venus C) Mars
D) Jupiter

Q18

The United Nations Organization has its Headquarters at

A) Bali B) Hague
D) Washington DC

2.00 Marks(Easy)

C) New York, USA

Q 19 There are 50 students of whom 47 are present. What % is absent? 2.00 Marks(Easy)
A) 0.08 B) 0.03 C) 0.06
D) 0.12
I
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Q 20 What is bio-fortification? 2.00 Marks(Easy)

A) Breeding crops to increase  B) Add nutrients to food while C€) Using natural fertilizers to protec
nutrition value processing the food crops

D) Preparing genetically modified
species

Q 21 Which of the following city is organizing the recent G20 summit going to be held in ~ 2.00 Marks(Easy)
20232

A) Brisbane B) QOsaka C) India

D) Australia

Q 22 Which of the following is not a search engine? 2.00 Marks(Easy)
A)  Google Chrome B) Google C) Bing
D) Yahoo

Q 23 Which of the following is not considered as a temperature scale? 2.00 Marks(Easy)
A) Fahrenheit B) Celsius C) Kelvin
D) Calorie

Q 24 WHICH ONE IS Correct ? 2.00 Marks(Easy)
A) Handkerchaf B) Handkerchief C) Handcarchief

D) Henkerchief

Q 25 World water day is celebrated on 2.00 Marks(Easy)
A) 44562 B) 44621 C) 44593
D) 44652
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GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
VIDYANAGRI, KALINA, SANTACRUZ (EAST) MUMBAI
Exam Questions Paper
. J
Subject Name : MSCSDEM Paper Set: 1
Exam Name : MSCSDEM ENTRANCE EXAM MAY 2023 Exam Date : 17/05/2023
Duration : 01:10Hour
Max Marks : 50.00
Q 1. 26th January, 1996 was a Friday. What day of the week lies on 26th January, 19977 2.00 Marks(Easy)
A) Saturday B) Sunday C) Monday
D) Thursday
Q 2. A firewall is used in a computer for 2.00 Marks(Easy)
A) security B) monitoring C) authentication
D) data transmission
Q 3 AIDS is 2.00 Marks(Easy)
A) Acquired Immunity Deficienc§) Acquired Immuno DeficiencyC) Acquired Immune Defective
Syndrome Syndrome Symptom
D) Acquired Immunity Deficiency
Symptom
Q 4. Ashwin introduces Rohit as the son of the only brother of his father’s wife. How is 2.00 Marks(Easy)
Ashwin’s mother related to Rohit?
A) Uncle B) Cousin C) Sister
D) Aunt
Q 5. At the drop of the hat means-------- ? 2.00 Marks(Easy)
A) As soon as it was spoken B) Done easily, without any C) Done in an instant
preparation

D) After something is done
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Q 6. Every boy and girl in the class today. 2.00 Marks(Easy)
A) are present B) had present C) is present
D) have present

Q 7. Find the odd number in the series: 3, 5, 7, 14, 17, 19 2.00 Marks(Easy)
A) 3 B) 17 C) 7
D) 14

Q 8. Find which of the following number is divisible by 11? 2.00 Marks(Easy)
A) 246542 B) 415624 C) 146532
D) 426513

Q 9. High Bilirubin levels is sign for 2.00 Marks(Easy)
A) Hyperthyroidism B) Swine Flu C) Japanese Encephalitis
D) Jaundice

Q 10 IfLIFE is coded as FELI, how is MORE coded as 2.00 Marks(Easy)
A) REMO B) EROM C) OREM
D) MERO

Q 11 If you write down all the numbers from 1 to 100, then how many times do you write ~ 2.00 Marks(Easy)
3?
A) 11 B) 18 C) 20
D) 21

Q 12 Inisotopes the number of neutrons are 2.00 Marks(Easy)
A) different B) same C) both
D) zero
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Q 13 Jackson and Kate all this time. 2.00 Marks(Easy)
A) have been collaborating B) have to collaborate C) collaborate
D) collaborates

Q 14 pH value of acidic solution is 2.00 Marks(Easy)
A) <7 B) >7 C) 14
D) 7

Q 15 The catalyst sensitive to temperature changes is 2.00 Marks(Easy)
A) Enzyme B) Fe C) Pt
D) Ni

Q 16 The civilian award bestowed by the president of India to persons for rendering 2.00 Marks(Easy)
exceptional and distinguished service in any field is
A) Padma Bhushan B) Padma Shri C) Bharat Ratna
D) Padma Vibhushan

Q 17 The full form of USB is 2.00 Marks(Easy)
A) Universal serial bus B) Ultra serial bus C) Uniform serial bus
D) Universal Service bus

Q 18 The largest operating hybrid nuclear desalination plant in the world is located at 2.00 Marks(Easy)
A) Mumbai B) Kudankullam C) Kalpakkam
D) Chennai

Q 19 The process of copying files to a CD-ROM is known as 2.00 Marks(Easy)
A) Burning B) Zipping C) Digitizing
D) Ripping
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Q 20 What is a ‘transcriptome’? 2.00 Marks(Easy)

A) A slice of gene B) A set of all molecules that make Set of all messenger RNA molec
up a gene in one cell

D) Words written on a grave

Q 21 What is the full form of DBMS? 2.00 Marks(Easy)

A) Data of Binary Management B) Database Management Systen¥) Data Backup Management Syster
System

D) Database Management Service

Q 22 When was G20 established? 2.00 Marks(Easy)

A) 2000 B) 1995 C) 1985
D) 1999

Q 23 Which one among the following agents is added to domestic LPG cylinder to help in ~ 2-00 Marks(Easy)
the detection of gas leakage?

A) Ethyl Mercaptan B) Methanol C) Ethanol

D) Chloroform

Q 24 Which one is correct ? 2.00 Marks(Easy)

A) Superintendent B) Supperitanden C) Suprientend

D) Supritendent

Q 25 Which protocol permits users to transfer files from the server to their client 2.00 Marks(Easy)
computer, and vice versa?
A) HTTP B) FTP C) SMTP
D) IMAP
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